

Demonstration of formulas

We insert in Excel sequences of "Second partial sums of m-th powers", arranging them in a table as follows:

Second partial sums of m-th powers								
					A101089	A101092	A101093	A250212
n	m=0	m=1	m=2	m=3	m=4	m=5	m=6	m=7
1	1	1	1	1	1	1	1	1
2	3	4	6	10	18	34	66	130
3	6	10	20	46	116	310	860	2446
4	10	20	50	146	470	1610	5750	21146
5	15	35	105	371	1449	6035	26265	117971
6	21	56	196	812	3724	18236	93436	494732
7	28	84	336	1596	8400	47244	278256	1695036
8	36	120	540	2892	17172	109020	725220	4992492
9	45	165	825	4917	32505	229845	1703625	13072917
10	55	220	1210	7942	57838	450670	3682030	31153342
11	66	286	1716	12298	97812	832546	7431996	68720938
12	78	364	2366	18382	158522	1463254	14167946	142120342

We know the [recurrence relation](#):

$$a_{(n,m)} = 2a_{(n-1,m)} - a_{(n-2,m)} + n^m$$

which is valid, for each n , in every column of the table. We will use this relationship to derive formulas of the sequences that appear in each row of the table.

For $n = 2$ we have:

$$\begin{aligned} a_{(2,m)} &= 2 \times 1 - 0 + 2^m = \\ &= 2^m + 2 \end{aligned}$$

For $n = 3$:

$$\begin{aligned} a_{(3,m)} &= 2a_{(2,m)} - a_{(1,m)} + 3^m = 2(2^m + 2) - 1 + 3^m = \\ &= 2^{m+1} + 3^m + 3 \end{aligned}$$

For $n = 4$:

$$\begin{aligned} a_{(4,m)} &= 2a_{(3,m)} - a_{(2,m)} + 4^m = 2(2^{m+1} + 3^m + 3) - (2^m + 2) + 4^m = \\ &= 3 \times 2^m + 2^{2m} + 2 \times 3^m + 4 \end{aligned}$$

Continuing we get:

$$a_{(5,m)} = 2^{m+2} + 2^{2m+1} + 3^{m+1} + 5^m + 5$$

$$a_{(6,m)} = 5 \times 2^m + 3 \times 2^m + 4 \times 3^m + 2 \times 5^m + 6^m + 6$$

$$a_{(7,m)} = 3 \times 2^{m+1} + 2^{2m+2} + 5 \times 3^m + 2^{m+1} \times 3^m + 3 \times 5^m + 7^m + 7$$

$$a_{(8,m)} =$$

$$7 \times 2^m + 5 \times 2^{2m} + 2^{3m} + 2 \times 3^{m+1} + 2^m \times 3^{m+1} + 4 \times 5^m + 2 \times 7^m + 8$$

$$a_{(9,m)} =$$

$$2^{m+3} + 3 \times 2^{2m+1} + 2^{3m+1} + 7 \times 3^m + 2^{m+2} \times 3^m + 3^{2m} + 5^{m+1} + 3 \times 7^m + 9$$

$$a_{(10,m)} =$$

$$9 \times 2^m + 7 \times 2^{2m} + 3 \times 2^{3m} + 8 \times 3^m + 2 \times 3^{2m} + 6 \times 5^m + 4 \times 7^m + 10^m + 10$$

and so on

This inductive process works indefinitely, generating polynomial expressions longer and longer, which in turn generate sequences with terms that magnify more and more rapidly.

Luciano Ancora